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Jor the questions
PART—A
( Business Mathematics )
( Marks : 32)
1. W% & S9g ol e - 1x3=3

Write True or False :

001
(@ =% A=|0 1 o] c=m® A7} =A.

100
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00 1] -
fA={0 1 O} thenA™!=A.
100

(b) I flg=2x% +3x+2, X/ f(I) =
If f(x) =2ch:2 +3x+2, then f(1)=7.

(c) W4%W5,oooww2wwq$
'_i’a400’m|

Simple interest on ¥ 5,000 for 2 years at

(3)

Determine the matrices A and B, where

1 20 . . [2 -1 5

A+2B=| 6 -3 3| and 2A-B=|2 -1 6

-5 3 1} o 12
5%/ Or -

1 2
MA=[1 2 3|, A RfaFA
11

—
w = O

the rate of 4% p.a. is ¥ 400. 01 2 )
fA={1 2 3 ,thencalculateA 1

10 -2 | | 311

2. I A=(2 2 ,ctri\sarczmz-amzho.
. 3
00
- 10 -2 : ‘4. W flg=2x2+3x+2, @ f(1), fO) TF
KA=|2 2 ,venfythatA2—3A+2I 0. F3R = g =00 3
00
If fx)=2x2 +3x+2, then find f(l), () and
- f=3) '
1 20
3. It A+2B=| 6 -3 3|E®
1-5 3 1
2
- 2 -15 5..ﬂﬁy=x210gx,mg—g§ﬂﬁﬁ‘f¥§?ﬂ : 6 -
2A-B=|2 -1 6 dx ,
0 12 d2y
: fy=x log X, then find —=
(S8 A 9% B Sfaea | 6
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- (5)

(4) o
- PART—B
%31/ Or ' ( Business Statistics )
N | (Marks : 48 )
M| xfl+y+y I+x=0, (@ (s @ . | ‘ |
“”’2%."1:0' 8. @ 5 T T 1x5=5
J ' | Fill in the gaps :
f xfl+y+yfl+x=0, then show that .
241 | (@) TP (= R I A e wg
l+x)°—=+1=0.
> ’ | ( Mode is the value that has the maximum
v 4 = -2 TG
6. M e @3 A I w|R 5% vagfa z9© ' (b) m=*_2Mean/
et m, W e TR Rom WY MWW 5 " T )
b
In what time an amount of money doubles at ‘ G ‘Qﬁ r= o? OB FARE ol @NSWI -
5% (p.a.) compound interest if interest is due I
b pa.ll. ? ) - . If r =0, then the two hnes of regressions
B | are to each other.

| (d) IR MRS 73 erpt 91 2 |
7. QI GF IR IR 5T T© RIS 2,420 57 . Index number is usually expressed in
e R TS 2,662 591 20 | IR T HF TSR form.
- Y Sfjean ® ‘

(e) Wﬁ:ﬁmmﬁaﬁmm

| A certain sum compounded annual'ly
amounts to 2,420 in 2 years and ¥ 2,662 in

’ Sale of oranges is an example of ___ in
3 years. Find the principal and rate of a time series.
interest.
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9. (a) W (b) WR T&I ¥
Answer either (a) or (b) :

(@ () oS U YR [ IS AT 9@ 3

Calculate mode from the following :
7,56,7,8,7,4,7,6,5

(i) T sRToR o ¥, IFN I} | TR
RO YR PR 3 69 - 1+4=5
Explain what is meant by central
tendency of data. What are the

common measures of central
tendency?

(iii) w7e fim Remmm amife Rem Pk

*ql 6

Calculate the standard deviation for
the following distribution :

o5 (Ff&) : 4446 4648 48-50 50-52 52-54
Weight (kg)

TR : 3 24 27 21 5

e/ Or
(b) (i) @RI FRCELF Tey Wi Ry 3

Which measure of dispersion is the
. best and why?
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(7)

(i) oS A BYR 1 TPYE Reema T ey
9 5

Calculate quartile deviation for the
following data :

o) : 30-34 35-37 3840 41-43 44-50
Income (¥). :

T R : 14 62 99 18 ‘7
No. of Persons :

(i) oo Re TR @ TR T
Reem R <1 ¢ 6
Calculate mean deviation from
mean from the following

distribution :
AP TER(BR) ;. 8-11 12-15 16-19 20-23 24-27
Daily Wages (?) .
Fq : 5 11 200 100 4

No. of Workers

10. (a) WY (b) R TEY T
Answer either (a) or (b) :

(@) () TR HF TOEE ASS qF ALF-
R wwamen w411 '3
Discuss the differences between
regression and correlation.
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(8) (9)

i) fm e XX=56, IY=40,

(ii) ©=S fral SR 1 FARER AN GBI
$X2 =524, YY? =256, T XY =364

Bfea : 6
SIF N = 8. TR QIRII A I 5 Find the two regression equations
Given X = 56, TY =40, from the data given below :
T X2 =524, Y2 =256, XY =364 | X : 146 152 158 164 170 176 182

and N = 8. Calculate the value of

.Y 75 78 77 79 82 85 86
correlation coefficient. : '

(iii) woTe Foar SRAR oA I T @

‘ : A 7 - , 6
i) woTs Tl SURAT 441 TFE QI T ' : :
(&) A e = ' 7 Calculate the coefficient of rank
halk correlation from the data given
'~ Find the value of correlation below : .
coefficient from the data given X : 70 65 71 62 58 69 78 64
below : '

| Y : 91 76 65 83 90 64 55 48
x : 80 76 72 68 64 60

. 73 59 66 54 52 38 . ‘
. y : 11. (a) WAV (b) ST BT A

T/ Or - ‘ ’ Answer either (a) or (b) :
et @m@a{ﬁzﬂﬁs (@) () PIFI TREoR Rew wwaman sq11 3
) () {ET"iWIEH ! ’iﬁ’ﬁl 3 ﬁsEl i? | 3 Discuss about the limitations of

. index number.
What is Karl Pearson’s coefficient of

correlation? What is its range? (i) I =N {ﬁtﬂ R @ @ ot
FRA Ry weisn 1) 1+4=5
- What is time series? Explain briefly
its main components.
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(iii) =TS fiqn @ o IR ySA @ ReoRR

W%«Wﬁ?ﬁﬂﬁﬂﬁﬁm 6

-Using the followmg data show that
Fisher’s index satisfies factor-
reversal test :

e = e

Rl Base Year Current Year
Tems | wp(bers) | oRmr | gwiser) | R
Price (in ¥) | Quantity | Price (in ®)| Quantity
CA ;0 100 12 96
B 8 96 8 104
C 12 144 15 120
D 20 300 25 250
E: 5 40 8 64
%31/ Or
®) @) wm%ﬁm«hﬁaw@wﬁm
HICATAl 9T | 3
Discuss the graphic method of time
series analysis.
(@) PIFI owfiger Rrw I T R
W T oW R QN @R R
IZNS WA 3 | 2+3=5
What are the tests for adequacy of
index number? Explain elaborately
one of them.
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(i) =T fomn SaRfT o srﬁ T3RN I TS
ffa v : 6
Calculate the 4-yearly moving
average from the following data :

o : 2010 2011 2012 2013 2014
Year '
7S (1S : 60 75. 59 42 70
Profit (lakhs) »
w : 2015 2016 2017 2018
Year
S (4S) : 69 80 95 92
Profit (lakhs)
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